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2x= 0 0 0| SAHEALZLI 0 0 0
PRSI 0 0 0] elEd=&H| 0 0 0
B 0 0 0| 2122 0 0 0
OE=2d=3l= 0| U= 0 0

OiXIZal+ 356,845 356,056 789 | OIXI= 353,757 352,010 1,747
Ol=== 0 0 0| 2z 2ae 0 0
Ol K== 8,912 10,954 22,042 | 22228 0 0 0
JIEt=E 0 0 0| JIEtKI= 0 0 0
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200 MI2==g 8,912 10,954 AN2,042
210 ZAEAI2l= 8,912 10,954 A2,042
216 OlXt==g 8,912 10,954 AN2,042
216-01 S30I=S0IXt= 8,912 10,954 AN2,042
OUIZ0IXt 8,912,000& = 8,912
700 EH=USHHR AN 356,845 356,056 789
710 B82S 356,845 356,056 789
714 WIxIZ23 = 356,845 356,056 789
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OUIXIzals=  356,845,000& = 356,845
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oI} 365,757 367,010 A1,253
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J|EME BH . N &3 12,000 15,000 A3,000
HASE MEOINED(HS|3) 12,000 15,000 A3,000
eI 12,000 15,000 A3,000
301 Ytz 12,000 15,000 A3,000
02 Es2asHR2 12,000 12,000 15,000 A3,000
OxstaYsN3 12,000
— sty 600,00024+6% = 3,600
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20099 & 17,696 0 0 0 17,6%
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20118 10,407 0 0 0 10,407
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20138 & 10,989 0 0 0 10,989
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20109 & 18,900 18,900 0 0 0 0 NT,887
20118 10,800 10,800 0 0 0 0 A393
20129 11,400 11,400 0 0 0 0 NATT
20138 &= 10,200 10,200 0 0 0 0 789
201449 12,000 12,000 0 0 0 0 A3,088
Al 470,135 470,135 0 0 0 0 353,757




4. Oixlz 2 GIS= EAl

SIAHE 20144
Oll&tXb== 0 = 0llAt
A2 - FEI=

0% % ol

22 | dX(DH - - -
RECLHUY | DPBECLHHAD | 2014HCLHTHAUD

B2l 352,010 356,845 353,757

GIbNE= EA| 352,010 356,845 353,757

m=o 352,010 35,845 353,757




